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I. Listening Comprehension

In this section of the test, you will have an opportunity to demonstrate your ability
to understand spoken English. There are two parts to this section, with special di-

rections for each part.

PART A

Directions: In this part, you are going to hear some statements and conversations.
Each statement or conversation will be spoken twice. They will not be written out
for you and you must listen carefﬁlly in order to understand what the speakers say.
After each statement or conversation you will hear a question or statement. Then
read the four answers on your test paper and decide which one is the most suitable.
After you have made the decision, mark your answer by blackening the corresponding
letter on your Answer Sheet with a pencil.
Example I.
You will hear: John dropped the letter in the mailbox.
You will read: A) John sent the letter.
B) John opened the letter.
C) John lost the letter.
D) John destroyed the letter.
Ser:tence A, “John sent the letter,” means most nearly the same as the statement
“John dropped the letter in the mailbox.” Therefore, you should choose A.
Example II.
You will hear:

Man: How are you today?




Woman: Not too bad. T still haven’t gotten over my cold.
What does the woman mean?
You will read: A) She is quite bealthy.
B) She is still ill. .
C) She finds the day too cold. ‘ |
D) She doesn’t think the day is too cold.
Sentence B, “Shke is still ill,” means most nearly the same as what the woman says
in the conversaiion, “I still haven’t gotten over my cold.” Therefore, you shoyld
choose B.
When you mark on your answer sheet, you are to do like this:
.9 B .C D
2.A @ C D
1. A) Yes, I Lave a few. B) Yes, I have any. -
C) Yes, I Lave a little. D) No, I have some.

2. A) It ended at noon. = B) It ended in the morning. *
C) It ended before breakfast. D) It ended in the afternoon.
3. A) He slep: all day. B) He had rested.
C) He was busy from morning till evening. D) He went out.
A)24 E)2 C)28 D) 29
5. A) an hour B) ten minutes C) balf an hour D) thirty-five minutes
6. A) She likes him. B) She does not like him.
C) She thinks he is an unpleasant person. D) She does not care for hin.
7. A) He approves of it. B) He likes a colour T. V.
C) He is speaking to himself, not to his wife. D) He opposes it.
8. A) Some maisic. B) The voice of a newscaster.
C) A teacker giving a lecture. D) A report. . .
9. A) Children often have headaches. B) Children can be most adorable.
C) Children can bother people a lot.
D) Children should only be cared for by women.
10 A) He has sometbing else to do. B) There is a shower tomorrow.
C) He does not want to go at all. D) He has not been invited.
PART B
Directions: In this part of the test, you will hear two short talks. Each talk will
be read twice. After each talk you will hear a number of questions and after each %

question there is a pause for you to make a choice among the four answers on your
test paper. Af-er you have made the choice, mark your answer on your Answer
Sheet as you have done in Part A.

Example:
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You will hear: The Ming T'ombs Reservoir was built in 1958, the year of the
Great Leap Forward. Hundreds of thousands of people helped
build it and the work went on day and night.

One- bright sunny day, a group of old officials arrived. They
were party and state leaders, most of them ministers and vice-
ministers. Among them was our beloved Premier Zhou Enlai.
When was the Ming Tombs Reservoir built? ,

You will read: A) ln 1954. B) In 1966. . C) In 1957.. D) In 1958.

The best answer to the question is D. Therefore you should choose D.
You may also hear another question: Who came to the construction site one day?

You will read: A. A group of college students.

B. A group of old teachers.
C. A group of Party and state leaders.
D. A group of construction workers.
The best answer to the question is C. Therefore you should choose C.
11. There are
A) three. B) four. C) nine. D) five.

2, It is
A) the warrior class. B) the class of philosopher-rulers.
C) the working class. D) the peasant class.

13. He is

A) the king of Russia in the seventeenth century. B) a king of France.
C) a king of England. D) a bishop in France.
14, A) in a restaurant. B) in a cinema. C) in a store. D) in a classroom.
15. A) Louis XIV and the French Revolution. . B) Louis XIV’s personal life.
C) Louis XIV’s accomplishmen’ts.‘ D) Louis XIV and the English army,

II. Translation

Directions: In this part of the test you will have fifteen Chinese sentences-each
translated into four English sentences, among which only one is correct.” Find out
the correct one and mark it by blackening the corresponding letter on your Answer
Sheet with a pencil, - .
Example! BER, BCZ M T, .
A) He has seen her yesterday. B) He saw her yesterday.
C) He was seeing her yesterday. D) He already seen her yesterday.
Sample answer

A. @ C. D.




16.

17.

18.

19.

20.

21.

22.

RELHIRIEE LR,

A) 1 thought you were still ill. B) I think you were still ill,
C) I think you are still ill. D) I thought you are still ill.
TR, BdRSUAFTHREFE-RERIELENRENEHNE,

A) After ten years the young generation of our country who have received
higher education will become the main force in our socialist construction.

B) Ten years later the young generation of our country who have received high
educa:jon will become the main force in our socialist construction.

C) In ter. years the younger generation of our country who have received higher
education will become the main force in our socialist construction.

D) Having passed ten years, the younger gemeration who have received college
education will become the main force in our socialist comstruction.

REIRZHMAEBFFIAE,

A) Don’t leave the office after I come back.

B) Don’t leave the office before me.

C) 1 will be back before you leave the office.

D) Stay in the office until I come back.

S R B R R RS IR BN

A) Integrated circuits offer advantages other than mere reduction in size.

B) Integrated circuits are characterised by being only small in size.

C) Integrated circuits are only small.

D) The only characteristics of integrated circuits are small in size.

SRS, KELBEG?

A) Have you back to your room this morning?

B) Have you been to your room this morning?

C) Have you come to your room this morning?

D) Have you visited your room this morning?

XERBLET, BEABEL LT,

A) The light is too dark here so that we cannot see the words of the note.

B) Here s dark to us to see clear the note.

C) The wé)rds of the note are unreadable owing to the darkness of here.

D) It's too dark here for us to read the note.

R, BERRELRMED, MEBIAENER, ,

A) Xiao _i, we afraid, cannot keep his life if the doctor did not come in time
yesterday.

B) Xiao l.i would lose his life yesterday if the doctor did not come in time.

C) Xiao 1.i would have died had the doctor not come in time yesterday.

D) If the doctor failed to come in time yesterday Xiao Li could not have -

lived.



23, REFSR. B, At Beki B kIR b s SR ML, -
A) Don't use this miniature computer when the computer is too cold, too hot,
too dusty or too wet.
B) Don’t use this miniature com‘puter when you are too cold, too hot, too du-
sty or too wet. ‘
C) Don’t use this miniature computer when the situations are too cold, too hot,
too dusty or too wet.
D) Don’t use this miniature computer in extreme cold, heat, dust, or humidity.
24, b, BRAGREBEBHER, “ERMR—, TREFELARLE,
A) Actually Nixon told the Kremlin that it could only have one person, not
two. , ,
B) In effect, the Kremlin was told by Nixon it cannot have it both ways.
C) As a matter of fact, Nixon told the Kremlin and said two people can have
only one, not two.
D) Nixon, in fact, told to the Kremlin that he'd like to have only. one, not

two. y

25. HEERW, BAMEREFMRNT, ‘
A) It was not until last week that 1 got to know that I would leave them.
B) Till last week I only knew that I would leave them.
C) After last week 1 came to know I would leave them.
D) Last week I got to know that I and they would separate.
26. FUFHERHW, WEHHAE, fh FESHHBBIHD S,
A) A proton has positive electricity, an electron has negative electricity and a
neutron does not have any electricity.
B) A proton has a positive charge, an electron a negative onme, and a neutron
neither. '
C) A proton has a sunny charge, an electron has a shady charge and a neutron
does not have any charge.
D) Proton has positive charge, electron has negative charge, and neutron has
no charge.
27. BARMNBAMBARER, BRNFBILBRER,
A) Though we use our flesh eyes and see no air but it encircles us.
B) We see not any air, but it is round us.
C) Though we can see no air with our naked eyes but it is round us.
D) Though there is air all round us, we cannot see it with the naked eye.
28. BiICHEXTH, AT XL, .
A) [ remember turning off the light, but forgot to close the door.
B) I remembered turning off the light but not closing ‘the door.

C) I don’t remember to turn off the light but I remembered to close the door.

5



D) 'm. reniembering’ turning ‘off ‘the light but forgetting ‘to close the door.
290 REERRHLRE, o

A) It is arything but bad. B) It is entirely not some bad thing.
i +€) This is entirely a good: thing.” D) Bad things are not entirely bad.
30. BFRA, -
o A) Time doesn’t wait for me. © 'B) 1 am not waiting for time.

C) Time does not treat me well, D) Time and tide wait for no man,

HI. Structure

Directions: There are 80 sentences in this section. Beneath each sentence there
are four words or phrases, marked A), B), C), D). Choose the one word or phrase
that best complites the sentence. Mark your answer by blackening the ‘corresponding
letter on your .4nswer Sheet with a pencil.
Example:
I have been to the Great Wall three times 1977,
A) from B) since C) for D) after ‘
" C : Sample answer
A @ C Db
81. I don’t take John’s bike because I don’t like____. o
A) that of his bike B) that bike of him
C) thnat his bike D) that bike of his
32. In some cointries students have to spend a lot of time working .
A) by their own B) on their own ' ’
C) in their own D) with their own.
33. .The reason he is ill is he ate too much.
A) due to.. B since C) because D) that
34, That kind of shoes are expensive for me.
A) more B) far more C) far too - D) much
35. I listen regularly to ___ mews. ;
A) the AEC B) A.B.C. C) a.b.c. D) A.b.c.
36, Twenty pounds ________ a heavy fine for such a trivial offence.’
A) were B) being C) had been =~ D) was
37. There were several collisions _______ slipper roads.
A) because:  B) due to  C) owing to D) for
38. Food and clothing have been sent to the earthquake area with a view to ___
the distress there. '
A) relief  B) relieving C) relieved D) relieve
39, There are opportunities for employment in the rural areas.

6



40.

41.

42,
43.
44.
45.
46.

47,
48,

490

50.
51.

52.

A)vl\ess B) little C) small D) fewer
When reaching the top of the hill ____ .
A) the sea suddenly came into view
B) we suddenly caught sight of the sea
C) it was the sea that extended below us
D) below us extended the sea
troublesome the problem is, he faces it with patience.
A) However =~ B) No matter
C) Despite D) Although *
Mrs Smart always buys priced clothes.
A) higher B) high C) highest D) highly
The reasons are given as .
A) {ollows B) following C) followed D) follow
of you could be lost in the forest of buildings.
A) Anyone B) Anybody C) Any or;e' D) One
Mary’s sun-tanned face is a suggestion that she
A) be B) being C) is D) was
Your papervis interesting and yet it leaves much .
A) desire B) to desire C) to be desired D) desiring

You this morning if you really wanted to see it for yourself,

in excellent health.

A) ought to come ' B) ought come
C) ought to have come D) ought to be coming
Only in summer __ .
A) will the ice niel_t B) the ice will melt
C) the ice can melt D) the ice melts
, he remains humble in spirit.

A) For all his great contributions

B) Though his contributions

C) He made great contributions

D) However his great contributions 4

When noon arrives, _ at least ten birds.

A) we might have shot ~ B) it is our expectation to shoot

C) it is estimated that we would shoot D) we may shoot

“Our paint section is right here, sir.”

“ the brands, which do you think is most durable?”

A) With all  B) Of all  C) For all of D) All

He often sat in a small bar, drinking and smoking considerably more
A) than is good for his health B) than his health .
C) than that he is healthy D), than good health .




53, I know I couldn’t have heard anything, but 1 do wish 1 thére. _A
A) were B) was C) went D) had been o '

54, It's no use to learn-a.language just by ‘st'udyingia; di(_:.tionary.‘
A) to try B) trying C) in trying D) try
55. The baby s«tarts crying he sees his mother.

A) which B) as early as C) the moment D) scon
56. NG doubt vou'd rather he stayed in England now, ? .
A) didn’t you B) wouldn’t you C) hadn’t you D) shouldn’ you
57. , he has been severely put to test during the past few weeks.

A) How s:rong he is ' B) The stronger he is
C) Strong man that he is D) For he is strong

.88, Many students take tests. ‘
A) would rather not - B) would rather ‘prefer not

C) would rather hot to I)). would prefer not
59. Many teachers their students should learn a foreign language.
"~ A) say to B) tell C) say D) tell about
60. By the time the competition was over, he » twienty pounds.

A) lost B) has lost C) had been lost D) had lost

IV. Reading Comprehension

Directions: Read the following three passages and then answer the questions
after each of them. Questions 61—70 are about the first passage. Questions 71—80
are about the second passage, and questions 81—90 are about the third passage.
Mark your answer by blackening the corresponding letter on your Answer Sheet
with a pencil. ‘

Passage One v ’

Four clergymen, taking a short breather fromv‘ their heavy duties, were on a
park seat, chatting and enjoying a spring day. ‘

“You know. since all of us are such good friends,” said one, “this might be an
ideal time to discuss the problmes that are disturbing us™ They all nodded in agre-
ement. v ’

“Well, T would like to share with you the fact that I drink to excess,” said
one. ‘

There was u gasp from the other three. Then another spoke up. “Since you
were so honest, I'd like to say that my big problem is gambling. It’s terrible, 1
know, but | can’t stop. I've been even tempted to take money from the collection
plate.” .

Another gasp was heard, and the third clergyman spoke. “I'm really troubled,

8



brothers, because I'm growing fond of a woman in . my church—a married woman.”

More gasps. But the fourth man remained silent. After a few minutes the

others coaxed him to open up. “The fact is,” he said, “I just don’t know how to

tell

61.

62.

63.

64.

65.

66.

67.

you about my problem.”

“It’s all right, brother. Your secret is safe with us.”
“Well, it’s this way,” he said. :“I'm an incurable gossip.”
A clergyman is .

A) a school teacher B) a tailor

C) a minister of a church D) a worker

The four clergymen were on a park seat: because they
A) were having a break

B) had nothing better to do

C) were watching some performance in the. park

X

D) were waiting for friends

The four clergymen all agreed .

A) that they were good friends

B) that it was a nice day

C) that they were having a good time

D) that it was the best time for them to discuss the things that were worrying
them

One of them was prepared to share with the others the fact that he drank to

excess. This means that . V

A) he wanted to give his drink to them

B) he wanted to drink together with them

C) he was going to get more drinks

D) he wanted to reveal to them that he drank too much

After hearing the first clergyman, the others .

A) took his story for granted B) made fun of him

C) criticised him D) were greatly surprised

The second clergyman was fond of gambling. He even .

A) didn’t want to get money from the church

B) was given money by church-goers

C) stole money from people’s houses

D) wanted to get money from people’s donations

The third clergyman was growing fond of a married woman. This means _____.

A) he had been in love with the woman all the time

B) the woman was trying to seduce him

C) he wanted to treat the woman well _ ‘

D) he had begun to feel attached to the woman



68. “After a few minutes, the others coaxed him to open up.” This means they

tried to meke him . ,

A) open his bag B) tell them what his problem was

C) open a book D) tell them how to solve their problems
69. “Your secrat is safe with us” means: . \

A) the others would not speak ill of the man

B) the man would not run any risk

C) they would not let others know what he was going to tell them

D) he would not lose face
70. The fourth clergyman’s problem was that

A) he sometimes gossiped

B) he couldn't help gossiping

C) he could stop gossiping -easily

D) other people tried to stop him from gossiping
Passage Two

Tube Raid—Eight Held

Police were holding eight people under arrest yesterday in connection with the
killing of Peter Clarke, a 52-year-old security guard shot during a £ 9,000 robbery
outside a London Tube station on Friday. '

The guard, from East London, was gunned down by two men outside Belsize
Park station as he carried a suitcase containing four bags of ticket money to a wait-
ing security van. The two men escaped with three of the bags.

The eight people, five men and three women, were being ques'tioned by detectives
at West Hampstead police station, where an incident room for the murder inquiry
set up. Several ‘witnesses to the shooting have come forward, it is understood.

The officer leading the hunt for the two men was to have held a press con-
ference at the murder scene yesterday lunchtime. Police were expected to issue des-
criptions of the wanted men and take the press along the escape‘route the attackers
took after the shooting.

The confereace was suddenly cancelled, however, without any descriptions being
given out. A Scotland Yard spokesman said: “There are no descriptions available to
justify the press conference taking place.” The spokesman also said that there were
no plans to issue pictures of the wanted men.

71. The word “tube” in the title means:

A) a picture tube. B) a pistol.

C) undergraund railway. D) a glass coatainer.

72. A) The eight people held by the police were robbers of the £ 9,000.

B) The eight people held by the police were thought to have something to do

with the robbery.

10 .



C) The eight people held by the police were witnesses to the robbery.
D) The eight people held by the police were the helpers of the robbers.-
73. A) The guard was shot when ke tried to steal £8,000.
B) The guard was killed when he was trying to catch the robbers. . -
C) The guard killed the robbers and was seriously wounded himself.
D) The guard was killed when he was carrying some money. to a vehicle
waiting for him.
74. “... it is understood” means: » .
A) It is convicted. B) It is said.  C) It is put up. D) It-is written.
75. A) The police did not hold a press conference though they had planned to.
B) The police held a press conferenece. o »
C) The police had planned to hold a press conference and they did so, though
a little late.
D) The police did not plan to hold a press conference. .
76. A) The police already knew that the robbery was committed by two men.
B) The police thought that the robbery was committed by eight people: five
men and three women.
C) The police did not know how many robbers committed the robbery.
D) The police did not know that the robbery was committed by two men.
77. A) The police gave detailed descriptions and also pictures of the wanted men.
B) The police only gave detailed descriptions of the wanted men but no pictures.
C) The police gave neither detailed descriptions nor pictures of the wanted men.
' D) The police planned to issue pictures of the wanted men.
78. A) The police were expected to take a machine along.
B) The police were expected to take a printing press along.
C) The police were expected to take the newspapermen along.
D) The police were expected to take their secretaries 5long. : 4
79. Scotland Yard is : oot
A)ba yard where pigs are slaughtered.
B) a mansion in Scotland.
C) used to refer to the London police.
D) used to refer to the Scotland police.
80. Which of the following statements about the passage is. untrue?
A) A man was shot outside London.
B) Two men fled with three of the four bags of money.
C) A committe was set up for the case.
D) Several people who saw the incident with theic own eyes have offered in-
formation.
Passage Three

3



In. America, the middle classes, and even the wellpaid working é]ass, have
“pursued happiness” according to the prescription ofl the Declaration of"Inde\pendence,
but in recent years, it has becomie more and more evident that this pursuit has led
to a “brave new world” of consumer goods and services. And, as in Aldous Huxley’s
great novel of that name, this world took over, not just the body, but the spirit of
man. Not only does the new Homo sapiens buy material junk at the supermarket,
he buys spiritual junk from the movies and television, those supermarkets of the
soul, Man is now “happy” by definition; but whether this is the happiness which
rebels of 1776 had in mind is a moot point. '

It is certainly not the happiness sought by the rebels of the nineteen sixties.
They consider it a form of consciousness too narrow to be dignified with the word
. “human” and so have initiated an era of significant, if symbolic, protest. If hairdos
and rock music are hardly, in themselves, worth a fight to death, for the rebels of
the sixties they have become symbols of more than’ just a life style: they have be-
come symbols of another life, the essential life of human beings, the life of their
deep affections and soaring thoughts.

81, The author questions whether, in America, the “pursuit of happiness”

A) has led to a “brave new world”.

B) was prescribed by the Declaration of lndependence.

C) has brought the happiness envisioned in the Declaration of Independence.

D) has made Americans happy “by definition”.

.82. In Huxley’s great novel one might find
A) a new wcrld which was to be explored.
B) some description about the American middle classes.
C) a kind of world where people are enslaved mentally and physically by the
society. :
. D) a new world where people are impressively brave.
83. The author of the passage believes that man’s “pursuit of happiness” in Ameri-
ca has
A) been esseatially wrong from the beginning.
B) had disappointing results thus far.
C) produced a finer, braver kind of Homo sapiens.
D) fulfilled the hopes of the American rebels of 1776.

84. As examples of consumer goods that affect the spirit of man the author refers

to
A) the supermarkets. B) some material junk.
- C) services in the “brave mew world”. D) movies and television.

85. In saying that “man is now ‘happy’ by definition” the author is suggesting that
A) man belicves himself to be happy even though he may not be.
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